Bai 1. Thuc hién phép tinh:
a) (-3°:(-3°
d) (4x"):(2x)*
Bai 2. Thuc hién phép tinh:
a) (x—3)%:(x-3)°
d) 2(x* +1)° :%(x2+1)
Bai 3. Thuc hién phép tinh:
a) 6x%y?:3xy

d) 5x2y5 : xy3
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Bai 4. Thuc hién phép tinh:
a) (2x3 —x? +5x):x

d) (x3 - 2x2y +3xy2) : (—%xj

Bai 5. Thuc hién phép tinh:

a) (3x5y2 + 4)c3y3 —5x2y4) : 2x2y2

C) (9x°y* —15x*y*) :3x%y —(2-3x%y)y?
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b) (-2)":(-2)°
e) (-5x2)°:(-3x)?
b) (x+2)*:(x+2)°

€) 5(x- )" 2 (x- )

b) 6x2y3: 3xy®
e) (—4x4y3):2x2y

h) 9x?y*z:12xy°
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c) y2:(-y")

) Cy?)*: (xy?)?

C) (X +4X+4)° 1 (X2 +4x + 4)

c) 8x2y3:2xy
f) xy3z4 :(—2xz3)

i) 2x°y)Bxy?):2x%y?

C) (—2x° +3x% —4x7) 1 2x7

e) [3(x—)° —2(x—y)* +3(x 2 ]: 5(x —y)?
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e) (x2 —Xy):x+ (6)62)/5 - 9x3y4 + 15x4y2) : %xzy3

b) (§a6x3 Jr%cﬁx4 —iaxsj : éax3
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d) (6x2 —Xxy):x+ (2x3y + 3xy2) txy—(R2x—-1)x



